BNE, AR—YBERECE TR T ORMREOHMAELR
(*FRi23512A58~12A6RAIE, £547E AT 45 FTEME)

) OMBEERHLIEEETORBEDORSMEERH
QBIEMERBMN(—)DESAIE, TOMERIZZLTHERAEL
QFME T O XHNDEILTHEIN BRI LEEMNELIE T (WEL) TOREE
@HR50cmDBESTHEIE

BRI RETOIER  MRE50cmDESTRIELI-ERTER 140 —A )L x LE S5

<12A5H~12A6HD#ERBE>
HEORR, 817470 —N)LhE LESERIEHYERATLE,

[REHEE] Bifi:p Sv/h
N P (jcm;%) = A g;gé RFAMICEVMEEZRT ERONLIEFTORSHRE
WHEET| HKE | Sk |#EELFEY] fBE | Ere (]
R RE R R 12858 0.14 - - - - - - 0.15
FHAREHE X #ET 12858 0.12 - - - - - - -
B RE R IBE:S 12858 0.12 - - - - - - -
SIERERE 517 12858 0.14 - - - - - - -
AR R b BE:S 12858 0.15 - - 0.15 - - - -
th 87 IR E R ¥ 12858 0.14 - - - - - - -
RGP IR E R R 12858 0.14 - - - - - - -
hEHETFE VIRV E PE 12858 0.13 - - - - - - -
A o 1R 3t HIT 12858 0.12 - - - - - - -
=&BRE#ER T 12A5H 0.12 - - - - - - -
[RIFRE MR KIF 12858 0.12 - - - - - - -
% B FEVIWH LS HhEE 12858 0.12 - - 0.13 - - - -
HIIRE R HIT 12858 0.13 - - - - - - -
B2 E T 12858 0.14 - 0.12 - - - - -
HpA# D6 REWEE | 12858 0.16 0.31 - - - - - -
e E RE R FEAE 12858 0.14 - - - - - - 0.15
FiRBE R T8 E 12858 0.15 - - 0.16 - - - -
[E15 4 ORI E iR &35 12858 0.08 - - - - - - 0.09
[ESMBFE YU |5 12858 0.12 - - - - - 0.09 0.14
(@5 =T B R&E#E 15 12858 0.15 - - - - - - 0.15
HHERERR =HE 12858 0.12 - 0.12 - - - 0.12 0.15
FEFHEEHFEYIEVES |EFE 12858 0.15 - - - - - - -
&5 —T B FE v U5 |E5 12858 0.13 - - - - - - -
RAEFFEVIWHUE REFH 12A5H 0.10 - - - - - 0.10 -
&P AE RS R EHFEH 12858 0.13 - - - - - 0.09 -
EFHEEER THER 12858 0.13 - 0.13 - - - 0.11 0.12
RRFEVIHUVIE REFH 12858 0.10 - - - - - 0.12 -
+XFREHE +XF 12868 0.10 - - - - - 0.10 -
aEHREHRE Lt 12868 0.17 - - - - - 0.1 0.12
THEURE R TH 12A6H 0.13 - - - - - - -
=i RE R +XF 12868 0.13 - - - - - 0.1 -
+XF)RAREHRE |+XF 12868 0.17 - - - - - 0.12 -
FRRERE il 12868 0.16 - - - - - 0.15 0.14
REEEREER JEFE 12A6H 0.16 - - - - - - 0.15
RARM/NERFE YU | AR 12A6H 0.10 - - - - - - -
BRI E i E BiR 12A5H 0.12 - - - - - 0.11 -
LR E R i 12858 0.10 - - - - - - -
JBIMEEIRE R B 12A5H 0.13 - - - - - 0.09 -
TERREWHE TER 12858 0.13 - - - - - 0.1 -
b R 3 IR & i R F 12A5H 0.16 - - - - - - -
ERREWHE TER 12858 0.13 - - - - - - -
Fiisr B REHE WRF 12A5H 0.14 - - - - - 0.11 -
JB)IRE R Bl 12858 017 - - - - - - -
FohEFEvIHUS Rz 12A5H 0.19 - - - - - - -
WEREREERE G 12858 0.06 - - - - - - -




